12
PCD GBI~ @~~~ °
PCD 3166 i g = C—={D— 55 TORQUE 100-110 Nm
- 19 o
TORQUE M10,
HOLES FOR M20 60-65Nm  \ - ) e
0 | & Y
! N ~/
B R 18 >< 4
T P e A &
| i
yes f | S P R —
| I | | T B I =
(} : il ! LA ultP : AT
rt 2@ i AR fiAS S SR |k
i 2 i | [ HHITT e
- H | H (= =il
A HA@ |
S 4 | b=
\></ iy
/> [ .
< I i )
e
Py
e .
e B
- I~
G C—= D— %
2
8
72 67 (stroke) =
POSITION OF HAMER WHEN 290 g
PRESSURIZES PORT "C" &
&
Ed
Ed
OPTIONAL 2
PIN-SPRING @10x50/60 HEAVY TYPE
DIN 1481 (CCA1039/1043.057-1A)
Parts List
ITEM | QTY | PART NUMBER DESCRIPTION
1 1 |DQ1106.005 BASE
2 1 |DQ1107-040S PLUNGER ASS'Y
2.1 1 |DQ1107-040 PLUNGER
2.2 1_|CAAB33.061-2A DOWEL PIN 8x40
3 1 |DQ1108.044 STOPRING
4 1_|DQ1109.299 CLAMP ARM
5 1 |DQi110.104 SHAFT
6 2 |DQ1111-040 PLUNGER
7 1 |DQ1112-:038 ADAPTOR RING
8 1 |pQto78.111 BRACKET
9 2 |DQ1113-044 STOPRING
10 1 |CCE1018.044-1A _ |RING-RETAINER 18x1,2
11 1_|CCA1025.028-TA |SCREW M10x30
12 8 |CCA1247.028-1A  |SCREW M12x100
13 2 |CBA515.028-1D SCREW M5x10
14 2 |CCA613.028-5C SETSCREW
15 2 |DQ1117-039 SENSOR RING
16 1_|CAA619.061-2A PIN-PARALLEL O.D.6x16
17 ®
18 2 |CS234-006 TERMINAL PLUG
19 2 |CS235-006 TERMINAL PLUG cow | AssErco | oams
20 @ E0001 | RELEASED | 1005
21 EASC CHANGES DATE
22 1_|DQ1115-776 WIPER RX 006P TOLERANGES ON DIVENSIONS UNLESS SPEGIFIED < MMimer] | TOL.ON| 7oL ON RADI UNLESS SPEG 2 Miirr]
23 1 |CS855-041 STEPSEAL = o | e | ssmo | inree o =
26 | 1 |passzoai GLYDRING 7 G-RING s | [ [ [ [ [ fone] 2 [ s [
25 1 |B1236-903 O-RING ® Tou | wrima | omtom | owom | s | o | =r | 7o | oeiew | oeen | s
26 1 |B1006-503 O-RING
o
S Tpioszets OAiNG EAG a glbalcompany -
- - ¥ e cunnos sercus
29 1 2 DA14159 GUIDE STRIE . / Raym iRl e
30 1_|DQii18.107 PLAIN BEARING WEKGHT:£ 56610 Hm e
31 1_|CS819-041 STEPSEAL 11125 TS (@) | 3POS. SWINGCLAMP
32 2 |B1111-803 O-RING eSS Sheores - L& 140 kN MODEL
33 | 2 |pQi488-372 PROXIMITY SWITCH M12x1 crovr o | o [TBreep [T |RARRS'Y: KT
34 | 2 IpQiz4z.008 GABLE PROX. SWITCH M12 SECTION C-C SECTION D-D dois [u] onaia[ [0 TRAH n




